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access provider. It is suggested that the
obligation should be measured at the fair
value of the contribution received.

If the arrangement lasts for a significant
period, the time value of money should be
taken into account. The period over which
the revenue will be recognised shall be the
period over which the obligation to provide
the access exists. This period may be shorter
than the useful life of the assets, but cannot
be longer.

In terms of IFRIC D24.11, the obligation must
then be reduced and revenue recognised as
access to a supply of goods or services is
provided. By concluding that revenue needs
to be recognised, the following was taken
into account by the IFRIC:

That the provision of access will most likely
be part of the ordinary activities of the

. Entity A contributes asset X to Entity
access provider.

B. Asset X has a fair value of R400 and
useful economic life of 10 years. Entity B is
responsible for maintaining asset X. Entity
A will pay entity B R250 pa for 10 years for
an ongoing service that is provided using
asset X. The cost to entity B of providing

By settling the obligation to provide
access, equity will increase (not related
to owner contributions), therefore the
definition of income as stated in the
Framework is met.

D C
20X0, when the asset is contributed ' !
At 20X0, the asset is recognised by entity B (at fair value): R R
Property, plant and equipment 400
Obligation to provide service 400

Years 1 - 10
During years 20X1 - 20X10, entity B incurs costs of R150, and makes sales of R250. The following journal entries
are required:

Obligation to provide service 40
Revenue “

To recognise service performed and settlement of the obligation.

Cost of sales 150
Cash 150

To record cash payments made by B to provide the ongoing services.

Cash 250
Revenue 250

To record cash receipts from A for ongoing services.

Depreciation 40
Property, plant and equipment 40
To record depreciation of the contributed asset.

(IASB, 20072)
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these services is R150 pa. If Entity A had
not provided the asset, entity B would have
charged entity A an additional R50 pa.

Yes, entity B will receive the future economic
benefits of the asset by way of cash inflows and
profits. It can restrict access to the asset (no
other parties are allowed to use it without B's
permission) see table 1.

Before the asset can be recognised, it has
to be determined whether this arrangement
to provide access contains a lease of the
asset back to the customer. For this purpose
reference must be made to I1AS 17 (AC 105),
Leases and IFRIC 4, Determining whether an
Arrangement contains a Lease.

If the arrangement does contain a lease,

the lease has to be classified as either an
operating or a finance lease. When a finance
lease is applicable, the entity does not have
an asset that it may recognise (and as a
result the obligation is also not recognised).
This is because the entity has settled its
obligation to provide the customer with
access to a supply of foods or services, by
returning the asset to the customer by way
of a finance lease. The access provider has

a right to set off the liability against the
finance lease receivable, because the finance
lease receivable will be settled by the entity
performing the ongoing obligations.

Exactly the same information applies as in
example 1. However, in this example, entity
B assesses whether the ongoing service
arrangement contains a lease using IFRIC 4
and concludes that it does. Because the



asset may only be used to provide a service
to customer A, the service cannot be provided
without the use of asset X, and customer

A dictates the output from the asset, the
arrangement contains a lease of asset X.

In this example, entity B assesses the lease
arrangement in accordance with IAS 17. It

determines that substantially all of the risks
and rewards of ownership have remained
with entity B and therefore concludes that
the ongoing service contract contains an
operating lease.

Entity B has leased an asset with a fair value
of R400 to entity A. It computes a lease
rental of R40 pa. see table 2.

All the journals are the same as in example 1, except the following:

Years 1 - 10

Obligation to provide service

Rental income (instead of revenue in example 1)

To recognise service performed and settlement of the obligation.

(IASB, 2007%)

At 20X0, the asset is recognised by entity B (at fair value):

Property, plant and equipment
Obligation to provide service

The asset is then leased back to entity A:
Finance lease receivable
Property, plant and equipment

Dr Cr
R R
40
40
Dr Cr
R R
400
400
400
400

The obligation is considered to be a prepayment of the lease and so the finance lease receivable is reduced by the

prepayment received:
Obligation to provide service
Finance lease receivable

(IASB, 2007%)

20XO0, when the asset is constructed

Cash

Obligation to provide service
To account for the receipt of the cash contribution
Property, plant and equipment

Cash

400
400

Dr Cr

100
100

90
90

To account for the construction of the property, plant and equipment

Years 1 - 5

During years 20X1 - 20X5, the following journal entries are required:

Obligation to provide service

Dr Cr

20

Revenue

20

To recognise service performed and settlement of the obligation.

Depreciation
Property, plant and equipment
To record depreciation of the asset.

(IASB, 2007°)

Example 3 contains exactly the same
information as example 1, except that

in example 3 entity B assesses the lease
arrangement in accordance with IAS 17. It
determines that substantially all of the risks
and rewards of ownership have transferred
back to entity A and therefore concludes
that the ongoing service contract contains a
finance lease.

Entity B has leased an asset with a fair value
of R400 to entity A. The lease rental is R50
pa and the interest rate implicit in the lease
is 4.25%.

Entity B determines that:

it has a right to set off the finance lease
receivable and the obligation to perform
future services; and

it intends to settle the finance lease
receivable and the obligation to perform
future services on a net basis.

Entity B therefore sets off the finance lease
receivable and the obligation to perform
future services in the balance sheet.

See table 3.

When accounting for cash contributions, the
first consideration is whether the property,
plant and equipment that must be acquired

or constructed will meet the definition and
recognition criteria of an asset. If not, the cash
contribution will be recognised as proceeds for
providing the asset to the customer, by either
using IAS 11 (AC 109), Construction Contracts
or IAS 19 (AC 111), Revenue.

If the definition and recognition criteria

are met, the property, plant and equipment
will be recognised and measured as it is
constructed or acquired in accordance

with I1AS 16 (AC 123), Property, Plant and
Equipment. In this case the obligation to
provide the access has to be recognised and
it will be measured with reference to the cash
contribution received.

An entity receiving the cash contribution has
the same obligation as an entity receiving

a customer contribution. The acquisition/
constructing of the item of property, plant and
equipment (in case of a cash contribution) is

a necessary activity and an integral part in
providing the access to a customer. The cash
contribution is therefore an advance payment
for the provision of the access.

Entity B receives a cash contribution of R100
in 20X0. As a result, it is required to construct



an item of property, plant and equipment.
Construction occurs in 20X0. The cost of
construction is R90. The property, plant
and equipment has a useful economic life
of five years and entity B will use the asset
to provide access to a supply of goods or
services to the customer for a period of five
years. See table 4 opposite.

Conclusion

A reporting entity will not be required to
apply this draft retrospectively, as it is
deemed impracticable to establish a fair
value for assets that had been contributed
in the past. It will therefore apply the draft
prospectively to contributions received in

Step 1: Has an asset

transferred?

Initially record the

periods beginning on or after the effective
date of the Interpretation.

In conclusion the following decision tree
may assist preparers of financial reports in
applying the information as contained in the
draft interpretation:
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No accounting consequences to record

asset at fair value with

a corresponding credit
recorded as an obligation to
perform ongoing services.

Step 2: Does the ongoing
service arrange-ment
include a lease-back of the

Is the lease an operating lease or a finance lease
in accordance with IAS 17?

asset to the customer?

Identify the service the

contribution relates to and
recognise the revenue from

satisfying the obligation
in profit or loss over the

period that access to that

service is provided.

Depreciate the asset over
the useful economic life of

that as-set.

(Example 1)

Finance

Identify the service the
contribution relates to and
recognise the revenue from
satisfying the obligation

in profit or loss over the
period that access to that
service is provided.

Derecognise the PPE
recognised in Step 1

and replace it with a
finance lease receivable. If
conditions are met set the
finance lease receivable off
against the obligation to
provide access.

(Example 3)

Identify the service the
contribution relates to and
recognise the revenue from
satisfy-ing the obligation
in profit or loss over the
period that access to that
service is pro-vided.

Compute the lease
payments in accor-dance
with IFRIC 4 and recognise
them in profit or loss as
rental income over the life
of the lease.

Depreciate the asset over
the useful eco-nomic life of
that as-set.

(Example 2)
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